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Radical Study Guide

Directions: Carefully read and follow the directions for each section. Remember to SHOW YOUR WORK and circle your answers.

Simplify the Radical Expression (Section 11.1).
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Simplify the radical expression by rationalizing the denominator (Section 11.1).
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Simplify the expression (Section 11.2).
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Solve the equation. Check your solution. Identify any extraneous solutions. (Section 11.3).
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Graph the function (Section 11.4).
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Answers
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13.) d = 4, d = -3 is an extraneous solution

14.) z = 71





15.) m = 2.5

16.) x = 4, x = -7 is an extraneous solution
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